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The National Examinations Council of Tanzania is pleased to issue this report on
Candidates’ Item Response Analysis (CIRA) on the 2022 Diploma in Secondary
Education Examination (DSEE) in Geography subject. The report aims to give
feedback to different education stakeholders including: teacher trainees, tutors,
parents, educational administrators, college administrators, policy makers and the
general public on the performance of candidates in Geography subject. Also the
report reveals the extent to which instructional goals and objectives were met.

The Diploma in Secondary Education Examination measures the effectiveness and
efficiency of the education system in general and education delivery in particular.
Basically the candidates’ responses to the examination questions show how the
teaching and learning objectives were achieved. It also shows the extent to which
Geography subject learning competencies were attained in their Diploma in
secondary Education course.

The report highlights some of the factors behind good performance of the
candidates on the assessed topics. The factors included the ability to understand
the requirements of the questions, adequate coverage and mastery of the contents
of topics as stipulated in the syllabi, and good presentation skills. Candidates who
scored lower marks lacked those elements. In this report, the analysis of each
question has been done and different categories of information have been
presented by figures and tables.

The National Examinations Council of Tanzania believes that, this report shall be a
blueprint for enabling all stakeholders to identify appropriate measures to take in
order to improve candidates’ performance ifiuture examinations administered by
the Council.

Finally, the National Examinations Council of Tanzania is grateful to all
Examination Officers, and other stakeholders who provided valuable contributions
in the preparation of this report.

b —

Athumani S. Amasi
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report presents the analysis of candidates’ responses on the Geography
examination for the Diploma in Secondary Education Examination (DSEE)
2022. The responses of the candidates to the examination items were
analysed and hence determine the candidates’ knowledge, attitude and skill
in various Geographical phenomena. The examination adhered to the format
which was reviewed in 2021 where The paper had two sections A and B.
Section A consisted of ten (10) short answer questions composed from both
Academic and Pedagogy syllabi. Section B consisted of four essay
questions from both academic and pedagogy syllabi.

A total of 619 candidate sat for the Geography examination. The overall
performance of candidates in Geography examination was good. The
analysed data showed that 99.02 percent of the candidates passed the
examination and 0.8 percent failed. In comparison with the 2021
examination, the performance in 2022 decreased by 0.08 percent from 100
percent in 2021 to 99.02 percent in 2022.

The report analysed the responses of candidates in each question by
presenting the requirements of the questions and the percentage of
candidates who responded correctly, averagely and poorly. The report
further analyses reasons for such responses in each category. Extracts of the
candidates’ responses were used as illustrations to substantiate the analysed
reasons. For the purpose of clarity, the performance of candidates is
grouped into three categories of weak, average and good. The percentage
interval for the three categories is 0-39, 40-69 and 70-100 respectively. To
make easy distinction of the three categories of performances especially
when tables and figures were used, green, yellow and red colours were used
to represent good, average and poor performances respectively.

It is hoped that the findings of the analysis will help different stakeholder to
improve the teaching and learning of Geography subject by addressing the
issues related to learning which led to the candidates’ failure to respond
correctly or give insufficient responses.
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ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

SECTION A: ACADEMIC AND PEDAGOGICAL CONTENTS

This section consisted of 10 short answer questions. Each question weighed
4 marks making a total of 40 marks. The candidates were required to
answer all the questions. For the purpose of analysis, the performance was
classified as good, average or weak depending on the scores the candidates
were able to attain. The range of scores for the three categories of
performance were 3 — 4, 2 — 2.5 and 0 — 1.5 respectively. The percentages
of the candidates in each category were identified then the reasons for
candidate to score marks range in each group were analysed. Since all the
questions were compulsory, the percentages of candidates in each category
of performance were worked out based on the 619 candidates who sat for
the Geography examination.

Question 1: Geography Teaching and Learning Support Resources

The question had two part (a) and (b). The candidates were required to
identify the teaching aids which can be used to teach students how to locate
a position using longitude and latitude in part (a) while in part (b) they were
required to explain how the teaching aids can be used in carrying out the
lesson. The results showed that the performance of candidates in this
question was generally weak. Many candidates (69.14%) provided
insufficient responses and hence scored low marks (0 — 1.5) as compared to
the candidate who provided sufficient responses which led to scoring good
marks (3 — 4). Figure 1 presents a summary of candidates’ performance for
question 1.
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Figure 1: Candidates’ Performance on Question 1

The candidates’ responses were further analysed to determine the reasons
for the weak trend of performance in this question. The analysis showed
that the 428 (69.14%) candidates whose scores were weak, lacked adequate
knowledge of teaching and learning resources which are appropriate for
teaching how to locate a position using longitudes and latitudes. The
analysis of candidates’ responses showed that, some candidates in this
category were able to mention correctly one teaching aid but could not
explain accurately how the mentioned aid can be used in teaching how to
locate a position. Others mentioned inappropriate teaching aids hence were
not awarded any marks. For example, one candidate mentioned protractor
and pair of string but with inaccurate elaborations. Another candidate
identified incorrectly compass bearing and ruler and right angle
instrument. It was also noted that, some candidates in this category
mentioned generally teaching aids without specifying, and therefore could
not link properly with their application, (see Extract 1.1).
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Extract 1.1: A sample of inappropriate responses to question 1.

As shown in extract 1.1, the candidate mentioned audio-visual and real
objects without specifying the teaching aids. This led to general explanation
of the teaching aids, contrary to the requirements of the question; to specify
how the mentioned teaching aids can be used in teaching position.

The responses of the candidates with average performance were analysed to
identify the reasons for moderate performance. It was found that, some of
the candidates in this category were able to respond correctly in part (a) by
mentioning correctly the teaching aids. However, they could not sufficiently
explain how they are used in teaching students how to locate a position
using longitude and latitudes in part (b). For example, one candidate
mentioned correctly the globe and map, but could not explain how these
teaching aids can be used in (b). Generally, in this category, most of the
candidates were able to identify correctly the teaching aids in part (a) but
were not able to explain sufficiently the application of the aids in teaching
students how to locate a position in part (b).

On the other hand, the candidates who scored good marks (3 — 4) were able
either to mention correctly all the two teaching aids and explain at least one
application correctly. None of the candidates were able to explain fully all
the points. For example, one candidate identified correctly atlas map and the
globe as the teaching aids which are appropriate for teaching how to locate
the position of a place. However, the candidate just explained what
longitude and latitude are instead of showing how they are used in locating
the position of a place. In answering this question, the candidate wrote,
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“...the globe which show both latitude and longitude lines drawn from east
to west its latitude and line drawn from north to south is longitude.”
Although this is the correct description of latitude and longitude, the
question required the candidate to show how the teaching aids can be used
in teaching students how to locate a position of a place. These weaknesses
in the candidates’ responses made them fail to score all the marks. The
candidates were expected to show that a globe or a map can be used in
locating a position of a larger part of a land mass, by using a rage of
latitude and longitude in combination. e.g, Tanzania is located from latitude
2°N to 12°S and from 39°E to 45°E. in showing an exact position of an
object on map, the intersection of latitude and longitude could be used. E.g.
a particular object is found at (10°N, 28°W) Extract 1.2 in an example of
fair answers by one of the candidates in this category.
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Extract 1.2: A sample of a fair response to question 1.

As shown in extract 1.2, the candidate identified the correct teaching aids.
However, the focus of the candidate in using such aids was on showing the
students the lines of latitude and longitude, instead of how those lines of
latitude and longitude can be used to show position of place.



2.1.2 Question 2: Weather and Climate

The question assessed the candidates’ understanding of the equatorial
climate. The candidates were required to show the uniqueness of the
equatorial climate. They could achieve this having good understanding of
different climatic conditions. This would enable them to explain the
characteristics of the equatorial climate which makes it different from other
climatic regions. The performance of candidates in this question was
average. The performance of candidates varied slightly among the weak,
average and good performers. The analysis showed that, 36.35 percent of
the candidates had weak performance and an equal 36.35 percent had
average performance while 27.30 percent had good performance. Figure 2
shows the percentages of the candidates in each category.
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Figure 2: Candidates’ Performance on Question 2

The analysis of responses of the 36.35 percent of the candidates who scored
low marks revealed that, most of the candidates in this category had
insufficient knowledge of different climatic conditions. Thus, they could not
precisely identify the characteristics which are unique to the equatorial
climate. Some of the candidates were able to explain correctly one climatic
condition. Others were able to only mention but could not sufficiently
explain the characteristics of the climatic conditions identified. For
example, in response to this question one candidate wrote; support plant
growth, it supports life of both macro and micro-organisms, have high
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rainfall and it had moderate temperature. In this response the candidate
was correct only in the third point. It is true that one of the characteristics of
equatorial climate is high rainfall throughout the year. Moreover, other
candidates explained the characteristics of other climatic conditions such as
semi desert and savannah climates while, others wrote the elements of
climate such as wind, temperature humidity and cloud cover without
explaining in details. Extract 2.1 shows a sample of poor responses.
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Extract 2.1: A sample of incorrect responses to question 2.

In extract 2.1 the candidate wrote generally what the equatorial climate can
influence. However, the candidate was also not correct as he/she mentioned
influences that can happen in any of the climatic conditions at varying
degrees.

Further analysis of the candidates’ responses showed that, the 36.35 percent
of the candidate with average performance provided at least two correct
characteristics of equatorial climate and either two incorrect responses. For
example, one candidate presented four characteristics as follows; high rate of
rainfall, the presence of big forests, low level of temperature and
...sometimes its cold by nature. While the first and second points were
correct the third and fourth points do not represent characteristics of the
equatorial climate. Another candidate wrote; equatorial climate receives
high amount of rainfall, equatorial climate ...have dense forests, equatorial
climate is covered by water bodies due to receiving high amount of rainfall
and equatorial climate also has cold and warm conditions. In this response,
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the candidate was correct only in the first two points while the last two
points were incorrect. These kinds of responses made the candidate score 2
to 2.5 marks which is an average performance. Generally, these responses
showed that, the candidates had insufficient knowledge particularly on the
characteristics of equatorial climate.

On the other hand, the 27.30 percent of the candidates with good
performance had adequate knowledge of the climatic conditions. Hence, they
were able to explain correctly characteristics unique to the equatorial
climate. These candidates presented characteristics such as high temperature
throughout the year. Heavy rainfall throughout the year accompanied by
lightning and thunderstorms, thick vegetation and forest which is canopy like
structure and evergreen forests, high humidity throughout the year due to
high temperature and extensive cloud cover. Such responses enabled the
candidates to score 2.2 to 4 out of the 4 allocated marks. Extract 4 is a
sample of a response from one of the candidates.
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Extract 2.2: A sample of good responses to question 2.

In extract 2.2 the candidate was able to identify correctly all four
characteristics of the equatorial climate although in his/her third point the
word high range of temperature was incorrectly used because the equatorial
climate has low temperature range. The candidate could not differentiate
between high temperature and high temperature range.



2.1.3 Question 3: Geomorphic Processes

The question required the candidates to examine the influence of tensional
and compressional forces on the formation of a rift valley. In attempting this
question the candidates were required to have knowledge of how this two
forces act in causing the formation the rift valley by using the aid of
diagrams. This question was also one of the difficult questions to most of
the candidates as 78.35 percent had low performance (0 — 1.5 marks) and
fewer (1.9%) had good performance (3.0 — 4.0 marks). The analysis showed
that 19.71 of the candidates had an average performance (2.0 — 2.5 marks).
Figure 3 Illustrates the performance of candidates in this question.
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Figure 3: Candidates’ Performance on Question 3

The review of the candidates’ responses revealed that, the main reason for
the candidates with weak performance (78.35%) was inadequate knowledge
of how tensional and compressional forces act in the earth’s crust. Due to
inadequate knowledge, some of the candidates left the question unanswered,
others presented incorrectly labelled diagrams. It was also found that, some
candidates in this category presented diagrams accompanied with incorrect
explanations. The explanation lacked the key feature such as the presence of
a normal fault when tensional forces are in action and the presence of
reverse faults when compressional forces are in action. Extract 3.1 is an
example of weak responses from one of the candidates in this category.
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Extract 3.1: A sample of incorrect responses to question 3.

In extract 3.1 the candidate incorrectly explained the formation of fold
mountains as a result of tensional forces contrary to the requirement of the
question which required him/her to explain how these force contribute to
the formation of a rift valley. Similarly, in (b) the candidate explained the
feature (block mountain) which can result from compressional forces
contrary to the requirement of the question.

The analysis of the candidates with average performance (17.71%)
indicated that the candidates had partial understanding of how a rift valley
occurs when either tensional forces or compressional forces are in action.
The explanation of the candidates lacked one of the basic features which
precedes the occurrence of the rift valley. For example, they could explain
correctly how the tensional forces act in the earth’s crust but could not
explain the presence of parallel faults which make the central block to sink.
Lack of such knowledge made the candidates fail to draw appropriate
diagrams in explaining how compressional forces cause the occurrence of a
lift valley. They could explain for example how compressional forces act
but could not explain the presence of reverse faults and therefore there
explanations were partially correct and hence their resulting diagrams.

The review of the responses of the 1.94 percent of the candidates with good
performance showed that the candidates understood the requirement of the
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question and also had sufficient knowledge. This was exemplified by the
ability of such candidates to draw appropriate diagrams and relevant
explanations despite a few errors in either their diagrams or narrations.
Extract 3.2 shows an example of good responses.
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Extract 3.2: A sample of good responses to question 3.

In extract 3.2 The candidate explained properly how the two forces play
part in the formation of the rift valley despite a few grammatical errors.

2.1.4 Question 4: Human Occupations and Economic Development

In this question, the candidates were required to briefly analyse the
detrimental impacts due to the presence of the mining industry. The
performance of candidates in this question was weak. Majority of the
candidates (65.11%) performed poorly by scoring 0 to 1.5 marks. Only 6.14
percent of the candidates had a good performance. The remaining 28.76
percent had an average performance. Figure 4 illustrates the performance of
candidates in question 4.
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Figure 4: Candidates’ Performance for Question 4

The responses of the candidates were analysed to determine the reasons for
the weak performance. The analysis showed that, most of the candidates in
this category of performance had good points but failed to justify them to
suit the requirement of the question. They wrote short phrases which
required them to elaborate further to make them clearer. Extract 4.1 is a
sample of weak response in this category.
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Extract 4.1: A sample of poor responses to question 4.
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In the extract 4.1, the candidate provided general statements which can be
applied to all sectors of the economy. For example, when the candidate says
that mining develops other sectors it may be implied that it contributes
income to the nation which then is used to develop other sector. However,
this remained silent in the candidate’s response. The same applies to other
points which the candidate argued.

The candidates with average performance managed to analyse clearly at
least two out of the four given points. This enabled them to score at least 2
marks out of the four allocated. Other presented inaccurate responses which
lead to loss of marks. For example, in responding to this question, one
candidate wrote; (i) Leads to soil erosion, (ii) Leads to emergence of
drought due to influence of cutting down trees (iii) leads to death of people
when there is disintegration of rocks (iv) leads to emergence of earth
quakes. In his/her responses the candidate was partially correct in the
second point and correct in the third point. However, the fourth response
was incorrect as earthquakes occur due to collision of two tectonic plates
and not as a result of mining. Soil erosion also needed justification because
during mining precautions are taken to control soil erosion. The candidate
was correct about mining as a course of deaths which happens especially
when mining areas collapses while miners are inside the mines.

On the contrary, the 6.14 percent of the candidates who scored good marks
were able to analyse the detrimental effects of mining. The candidates were
able clearly to give points such as land degradation, soil pollution, water
pollution and deforestation which are problems in most mining areas and
the minerals being exhausted the land left bare. Deaths, caused by
collapsing of mines holes or walls. conflicts where the low paid workers
fights with their employers. Ownerships of the mining provinces lead to
fighting in mining centres. Mining causing the decline of other economic
sectors such as agriculture due to over concentration on one sector. Such
points led the candidates to score 3 to 4 marks out of the 4 allocated.
Extract 4.2 is a sample of good responses from one of the candidates.
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Extract 4.2: A sample of good responses to question 4.

In extract 7, the candidate gave responses which were relevant to the
question he/she was able to analyse why the given point had negative
impact.

Question 5: Geography Discipline

In this question, the candidates were required to show how Chemistry,
Agriculture, Demography and Biology relate to Geography. This question
proved difficult to most candidates. The data showed that, 89.8 percent of
the candidates had weak performance (0 - 1.5 marks). The data further
showed that, only 1.5 percent of the candidates had good performance of 3
to 3.5 marks out of the 4 allocated. Thus, in comparison with other items of
the examination, the performance in this question was the weakest. Table 1
shows the performance of candidates in question 5.

Table 1: Candidates’ Performance on Question 5

Range of Total No of Percentage of
SN scores candidates candidates (%0)
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Sample of candidates’ responses were reviewed to determine the reason for
the weak performance in each score range. It was generally found that, the
candidates struggled to establish the relationship of the mentioned discipline
with Geography. The common obstacle to the candidates was their attempt
to merely define each of the discipline without showing how they relate
with Geography. It was expected that the candidate would make connection
between Agriculture and Geography by relating Geography in studying
farming systems, distribution of those farming systems and the use of
geographical techniques in forecasting weather which is useful for
agriculture. In relating geography to Demography, the candidates were
expected to identify the fact that, demography is a sub branch of Geography
dealing with population studies. Thus, the study of Geography helps in
dealing with demographic studies. In addition, Geography deal with the
study of population and its relationship to settlement and the factors for its
distribution. The candidates were expected to relate Geography and
Chemistry that the knowledge of chemistry is used to determine soil
composition and studying different mineral occurrences. Finally, the
candidates were expected to relate Geography with Biology by establishing
the fact that, the knowledge of Biology helps Geographers to determine
different types of flora and fauna and then use geography as a means to
determine their distribution and reasons for such distribution.

It was noted however that, the candidates with weak performance (89.82%)
failed to establish such link and ended up giving awkward explanations.
Others relate the given disciplines in terms of the topics they share. For
example, one candidate wrote: “...in geography, there is a topic of rocks
which is found in chemistry so this leads to be related.” In explaining the
relationship between geography and agriculture, another candidate wrote:
“...in geography also there were the topic of agriculture actually relate
with agriculture.” In relating Demography with Geography, another
candidate wrote: “...we learn about time and organisms of topography also
in geography we learn in rocks disintegration and nature of rocks.” This
kind of response indicated that the candidate lacked knowledge of what
demography deals with. However, it is important to note that, although the
candidates tried to link the disciplines in terms of common topics they have,
the relations were too superficial leading to scoring low marks. Extract 5.1
shows a sample of incorrect responses from one of the candidates.
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Extract 5.1: A sample of incorrect responses to question 5.

The responses of the candidates with average performance (8.72%) were
also analysed. It was found that, the candidates in this category were able to
establish at least two of the disciplines beyond common topics studied
among the subjects. For Example, in explaining the relationship between
Geography and Chemistry, one candidate wrote: chemistry relate to
Geography as the study of soil conservation as both chemistry and
geography teach ways of soil conservation. Another candidate related
Geography with Demography by arguing that, Demography as the study of
human population is leant in Geography, we learn how to ensure utilization
of sustainable use of resources for the development of the people. The
average score resulted from lack of conciseness in some of the candidates’
responses as they ended up presenting the topic the disciplines in question
share.

On the other hand, 1.46 percent of candidates with good scores were able to
provide at least three well-argued answers to substantiate the relationship
between the said disciplines with Geography. The candidates were able to
describe the relationship beyond mere similarities of the topic they share.
Extract 5.2 Shows a sample of good responses from one of the candidates.
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2.1.6
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Extract 5.2: A sample of good responses to question 5.

In Extract 5.2 although the candidate was able to establish loosely the
relationship between Chemistry and Geography, the candidate was able to
establish fairly well in showing how Agriculture, Demography and Biology
relate to Geography.

Question 6: Principles of Teaching and Learning Geography

The question had two parts. In part (a), the candidates were required to
explain what spatial ability is and in part (b) they were required to identify
three functions of spatial thinking. The performance of candidates in this
question was average. The data showed that, 49.27 percent of the candidates
had average performance of 2 to 2.5 marks. It was however noted that, the
percentage of candidates with weak performance was more (37.00%) than
that of candidates with good performance (13.73%). Figure 5 shows the
performance of candidates in each category.
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Figure 5: Candidates’ Performances on Question 6

Responses on candidates’ scripts were reviewed to determine the reasons
for this performance. The results showed that, the candidates with average
performance had some weaknesses in their responses. Some were able to
explain what spatial ability is but could not sufficiently explain its
functions. Others were able to explain what spatial ability is but gave
outlines of the functions without clear elaborations. It was generally noted
that many candidates lacked knowledge and therefore could not respond to
the question as expected. Some of the candidates left the question
unanswered.

The review of candidates’ responses with weak performance revealed that
the candidate had insufficient knowledge about spatial abilities. This was
exemplified by the responses which attempted to define spatial ability
incorrectly. For example, one candidate explained the use of spatial ability
as used in many field of study such as collecting data in different fields in
part (a) instead of explaining what spatial ability is. Another candidate
explained spatial ability unclearly as ...the ability which helps to concern
with the concept of spaces for example mathematical space, physical space.
Another candidate simply defined spatial ability as ...the ability of having
space ability. Responses like these led to obtaining low or no mark to such
candidates. Extract 6.1 shows a sample of incorrect responses from one of
the candidates in this category.
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Extract 6.1: A sample of incorrect response to question 6.

Further review of candidate’s responses revealed that, the 13.73 percent of
candidates with good performance had adequate knowledge of spatial
abilities. The candidates were able to explain what spatial ability is in part
(@) and elaborate its functions in part (b). the candidates were able to
explain spatial ability as the capacity to understand and remember the
spatial relations among objects. Spatial ability is not a monolithic and
static trait, but made up of numerous sub skills, which are interrelated
among each other and develop throughout your life. The candidates were
also able to elaborate the three factions of spatial abilities which implied the
descriptive function, the analytic function and the inferential function.
Extract 6.2 is a sample of good responses from one of the candidates in
this category.
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Extract 6.2: A sample of good responses to question 6.
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2.1.7

In extract ... the candidate was successful in explaining what spatial ability
Is in part (a) and was able to elaborate three functions although the use of
some phrases such as ‘...arrange different features’ in his/her first function
were not correctly used. However, the overall presentation was good.

Question 7: Geography Teaching and Learning Support Resources

This question required the candidates to elaborate the relevance of the print
media, audio-visual media, models and real objects in teaching Geography.
The data showed that, more candidates (41.36%) had average performance
and fewer (26.98%) had good performance. The data further showed that
31.66 had a weak performance of 0 to 1.5 marks. The general performance
in this question was average as 68.34 percent of the candidates were able to
score 50 percent or above of the allocated marks. Figure 6 shows the
percentage of candidates in each category of performance.
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Figure 6: Candidates Performance on Question 7

The responses of candidates were further analysed in each category. The
analysis showed that, the candidates with average performance had several
weaknesses in their responses which made them to score averagely. Some
of the candidates in this category gave general relevance which are common
to all types of media for example, one candidates wrote; the print media
help in teaching and learning process, audio-visual media helps the
students to be interested in the subject matter. With such responses, the
candidates were not able to score all the allocated marks because these
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applies to all the teaching and learning resources. The candidates were
supposed to give the relevance which is unique to each type of media.
Further analysis indicated that most of the candidates in this category
defined the four media but could not explain their relevance. For example,
one candidate wrote; Print media uses hard copy such as books, magazine
and journals, audio-visual media uses sound and visualization such as
television, models are objects which represent real object e.g the globe
which represent the shape of the earth, real object are the true objects used
in teaching and learning such as mountains. These kind of responses did
not address the requirement of the question fully. Apart from explaining
what they are, the candidates were required to briefly explain their
relevance in teaching and learning.

The analysis of the responses of the candidate with good performance
showed that these candidates were able to explain the relevance of each of
the teaching media by pointing out the relevance which is unique to each
category of media such as, Print Media being the chief media of information
exchange whereby learner can be assigned to read to understand a
particular concept. And the power of ...the audio-visual media in bringing
abstract concepts into visual form which aid understanding. The candidates
also explained the relevance of models ...as direct representation of real
objects which make transmission of knowledge more direct. In addition, the
candidates were also able to describe the relevance of ...real object as the
representation of reality itself and therefore learners get firsthand
information directly from the environment. Extract 7.1 is a sample of good
responses from one of the candidates.
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Extract 7.1: A sample of good responses to question 7.
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2.18

On the other hand, the candidates with weak performance were not able to
adhere to the requirement of the question. It was generally found that, the
candidates in this category had insufficient knowledge of the different types
of media. Thus, they could not provide answers which showed the
relevance of the media in the teaching and learning process. Some of the
candidates in this category left the question unanswered, which is an
indication that they lacked the knowledge to use to respond to it. Others had
grammatical errors in their responses which made it difficult to understand
what they meant. Extract 7.2 is a sample of an incorrect responses from one
of the candidates.
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Extract 7.2: A sample of incorrect responses to question 7.

Question 8: Map Reading and Photograph Interpretation

This question used a scenario of Mwanshamba who saw her photograph
which was taken when she was two years old. The candidate was then
required to briefly explain the strengths of that type of photograph. In
responding to this question, the candidate was expected to understand first
the type of photograph and then explain the strengths of such type of
photographs. The type of photographs taken for family use are usually
ground photographs. Thus, the candidates were required to explain the
strengths of ground photographs.
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The data indicated that, this question was difficult to most of the candidates.
It was found that more candidates (84.81%) had weak performance of 0 to
1.5 marks, 14.70 percent had average performance of 2 to 2.5 marks and
only 0.49 percent had good performance. Table 2 summarises the
performance of candidates in this question.

Table 2 A summary of Candidates’ Performance on Question 8

Range of Total No of Percentage of
SN scores candidates candidates (%)

The responses of candidates were analysed to determine the reason for the
weak performance. The results showed that most of the candidates in this
category attempted to describe the characteristics of the photographs rather
than describing their strengths. For example, one of the candidates in this
category wrote; is shows things clearly, it shows the fore, middle and
background, it always concerns with one object, it shows the land. Another
candidate gave similar responses by writing that, the types of photograph
...are taken on the ground level, they show front view of the object, they
show three parts fore, middle and background, they shown front objects are
seen more compared to the back parts on the photograph. Although these
were correct characteristics of ground photographs, they were however not
the focus of the question. The question required the candidate to explain the
strengths of the said type of photographs.

The candidate were expected to explain the strengths of ground photographs
such as it is easy to interpret the image of objects observed on the
photograph, they are less expensive to produce compared to other type of
photographs, they are most familiar photographs compared to other forms,
they can be used as an aid to field sketching and they give more easily data
of the areas. The focus of candidate to the characteristics rather than the
strengths made them score low or no marks. Extract 14 shows a sample of
incorrect responses from one of the candidates.
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Extract 8.1: A sample of incorrect responses to question 8.

Further review of the candidates’ responses showed that, the major
weaknesses in the responses of the candidates with average performance
(14.70%) were mixing some characteristics with some of the strengths were
however not clearly stated but implied. For example, in responding to this
question, one candidate wrote; (i) it shows all the features that are found on
the photograph (ii) it is cheap can be used anywhere (iii) it is easy to
interpret the features that are found on the photograph (iv) shows fore
middle and background. In this response the candidate treated point (i) and
(iv) as strengths although they are basically features of ground photographs.

The analysis revealed very few candidates who were able to score at most 3
marks in this question. The challenge of candidates mixing features of
ground photographs and their strengths was persistent even to this category
of candidate. However, the difference was that, these candidates were able
to explain at least three strengths even if it was not very clearly. Extract 8.2
presents a sample of good responses from one the candidates in this
category.
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Extract 8.2: A sample of good responses to question 8.
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In extract 8.2 the candidate tried fairly well to present the strengths of
ground photograph. The candidate was able to avoid the pitfall of
presenting the features of ground photographs as most of the candidates did.

Question 9: Human Occupation and Economic Development

The question was made up of scenario of a TANAPA manager who warned
that not everything brought by tourist should be accepted. The candidates
were required to support this statement by giving four points. The data
showed that, the performance of candidates in this question was good as
42.82 percent of the candidates had good performance of 3 to 4 marks. The
data further revealed that 36.82 percent had average performance of 2.0 to
2.5 marks and 25.36 percent had a weak performance by scoring 0 to 1.5
marks. Figure 7. shows the performance of candidate is this question.
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Figure 7: Candidates’ Performance on Question 9

The candidates with good performance (42.82%) were able to support the
warning of the TANAPA manager by explaining the tourist influences
which should not be accepted. The candidates were able to explain issues
such as negative cultural influences such as improper dress codes and other
behaviours which are deemed unacceptable in our societies, health risks
such risk of diseases such as HIV/AIDS which may result from unprotected
sexual relations and the danger of environmental pollution which may

25



result from improper management of wastes brought by tourist. For
example, one of the candidates wrote about the things which they should be
not accepted; avoid behaviours and issue which, (i) may result to
destruction of indigenous culture (ii)may result to spread of diseases such
as CORONA and HIV/AIDS (iii) may lead to environmental pollution by
dropping waste materials to the environment (iv) lead to terrorist actions.
These kinds of responses indicated that the candidates were not only
knowledgeable but also understood the requirement of the question. It was
however observed that although the candidates had the required points,
most of them could not relate to the stem of the question. They provided the
effects rather than stating what behaviours that should not be accepted from
tourists so that the mentioned effects would not occur. Extract 9.1 is a
sample of good responses from one of the candidates.
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Extract 9.1: A sample of good responses to question 9.

In extract 9.1 the candidate explained valid points which may be a result of
tourists coming to our country. However, the candidate was required to
explain what not to accept from tourists so that such effects do not happen.
Thus, the candidates with such responses could not score all the allocated
marks.

On the other hand, the candidates with average performance (26.82%) had
partial knowledge of the subject matter. The candidate in this category gave
a mixture of correct and incorrect responses which led to average scores.
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Other simply outlined some points without further elaborations on why they
should be avoided.

The analysis on the candidates’ responses with weak performance showed
that, the candidates in this category misinterpreted that question and
therefore gave responses which did not address the requirement of the
question. For example, in responding to this question, one candidate wrote;
(1) to maintain peace and security, (ii) to increase government revenue (iii)
to educate people to brought goods (iv) increase national parks. From such
responses, it was difficult to understand what the candidates intended to
address. Another candidate wrote responses which were not connected to
the stem of the question which made it difficult to understand the points
he/she was advancing. In his/her responses he/she wrote: (i) because it can
lead to dependency of the people (ii) can slow down our development (iii)
can lead laziness to the people (iv) accepting of their traditions like wearing
style. The candidate seems to have been pointing out the negative impact of
tourism. However, the question required him/her to identify the negative
influences brought by tourists which should not be accepted. Extract 9.2 is a
sample of incorrect responses from one of the candidates.
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Extract 9.2: A sample of incorrect responses to question 9.

In extract 9.2, the candidate misunderstood the question and presented the
problems which TANAPA faces instead of the negative influences which
should not be accepted by the people.
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2.1.10 Question 10: Energy Resources

In this question candidates were required to distinguish the concepts
renewable resources, non-renewable resources, firewood and biomass. The
date showed that, the candidates’ performance was good since 72.22
percent of the candidates were able to score 50 percent or more of the
allocated marks in this question. The data showed that, 42.17 percent of the
candidate had good performance of 3 to 4 marks. The data also showed that
30.05 percent of the candidates had average performance of 2 to 2.5 marks
and the remaining 25.00 percent had weak performance of 0 to 1.5 percent
as illustrated in Figure 8.
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Figure 8: Candidates’ Performance on Question 10

The analysis of the responses of the 42.17 percent of the candidates with
good performance showed that, the candidates were able to distinguish the
four concepts sufficiently. For example, in responding to this question one
of the candidates responded by writing; (i) Renewable resources are those
resources which can be used again after been used such as solar energy,
biogas, wind and hydroelectric power. (ii) Non-renewable resources are
those resources which can b e exhausted after use such as firewood. (iii)
Firewood is the non-renewable resource which cannot be replaced again
when used. (iv) biomass is the energy resource formed thought faeces of
animals to generate energy. The responses of candidates in this category
showed that the candidates had adequate knowledge about different types of
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energy resources. Extract 10.1 shows a sample of good responses from one
of the candidates.
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Extract 10.1: a sample of good responses to question 10.

The analysis of the responses of candidates with average performance
(30.05%) was done to determine the reasons for such performance. The
results showed that, the main reason for average performance was
inadequate knowledge in some of the assessed concepts. The candidates
were able to provide either two of the concepts correctly and the other two
were not clearly explained.

The analysis of candidates’ responses with weak performance (25.00%)
showed that, the candidates in this category, had insufficient knowledge of
the assessed concepts. Some of the candidate did not understand what they
were supposed to do in responding to the question. This was exemplified by
responses which did not match the requirement of the question. For
example, in responding to this question, one candidate wrote phrases such
as (i) it can cause destruction of water, (ii) it causes chronic diseases (iii) it
can lead to destruction of environment (iv) it can lead to increase in
terrorism. These kind of responses implied that the candidates did not
understand the requirement of the question. It was also noted that, some of
the candidates did not have a clear distinction of the concepts and hence
failed to differentiate them or failed to elaborate them as shown in extract
10.2.
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Extract 10.2 a sample of incorrect responses to question 10.

In extract 10.2, apart from grammatical errors in the candidates’ responses,
the concepts assessed also were incorrectly presented. The candidate was
incorrect in writing that renewable resources.... create air pollution during
producing energy in point (i). similarly, the candidate was incorrect in
pointing out that non-renewable resources do not create energy resource
because these types of resource produce energy while producing gases that
pollute the environment. The candidate also loosely described firewood as
resources which create pollution during production of energy but without
pointing out what they are. Such responses were a source of weak
performance in this question.

SECTION B: ACADEMIC AND PEDAGOGICAL CONTENT

This section comprised of four essay questions set from both academic and
pedagogy content topics. The candidates were required to answer all the
questions. Each question weighed 15 marks making a total of 60 marks in
this section. The performance of candidates in this section were classified as
poor, average and good. The marks range for each class were 0 — 5.5, 6.0 —
10 and 10.5 — 15 respectively. In the subsequent section, the analysis of
each question was done by identifying the requirement of the question then
samples of candidates’ responses were analysed to identify the reasons
which led candidates to attain particular range of scores.
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2.2.1 Question 11: Population and Development

This essay question assessed the candidates understanding about population
policy. In particular, the candidates were required to show the positive
impacts of population policy in Tanzania. This was one of the well
attempted questions. The data showed that, 58.64 percent of the candidate
scored good marks (10.5 and above) and 40.23 percent had an average
performance of 6.0 to 10 marks. Only 1.13 percent of the candidates had
poor performance of 0.0 to 5.5 marks as shown in Figure 9.
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Figure 9: Candidates’ Performance on Question 11

The analysis of candidates’ responses with good scores showed that, the
candidates were able to respond to the question in accordance with the
requirements of the question. The candidates were able to explain the
positive impacts of population policy such as raising awareness of
population issues particularly those related to reproductive health,
Expansion and /or introduction of population studies in institutions of
higher which have led to increase in experts about population issues and
the increase of the number of NGO dealing with population issues.

The analysis of candidates’ responses in this category revealed further that,
although the candidates had adequate knowledge on population issues, they
lacked strong writing skills. Their responses lacked coherence. The facts
were presented without linking them to the question in a logical manner.
Despite this problem, there were good number of candidates with good
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organization and were able to link their arguments with the question

sufficiently. Extract 11.1 is a sample of good responses from one of the
candidates.
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Extract 11.1: A sample of good responses to question 11.

32



In extract 11.1, despite some grammatical error, the candidate tried well to
present his/her points in an organized manner. The candidate introduced
well his/her topic and argued through to his/her conclusion.

Further analysis indicated that, the main reason for the 40.23 percent of
candidates with average performance was superficial knowledge of the
positive impacts of the population policy. Many of the candidates explained
different aspect of economic and social development which can be realised
if the population increases proportional to availability of resource such as
adequate provision by the government of social services such as provision
of education, provision of health services and sufficient distribution of
water resources. These however are not the positive impacts of the
population policy by itself but are the benefits which may be realized if the
population policy is successful. Such linkage lead to partially correct
responses which led such candidates to have average performance.

The analysis of the responses of the 1.13 percent of candidates with weak
performance showed that, their main drawback was misinterpretation of the
question. Instead of explaining the positive impacts which the population
policy has been able to realize so far, the candidates explained generally the
benefit of controlled population. This was implied in their responses as
most of the them linked population policy with economic growth and better
provision of social services. The focus of the question was however the
positive impacts which the population policy of Tanzania has achieved so
far. For example, one candidates in responding to this question wrote in one
of his/her responses that, population policy ...enables people to preserve
their culture. Population policy is the source of people to preserve their
culture. Another candidate responded that ...population policy is the source
of population growth. These kind of responses indicated the potentials of
population policy though not necessarily correct instead of focusing on the
impact of the population policy which can be identified so far. Extract 11.2
in a sample of weak responses from one of the candidate.
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Extract 11.2: A sample of incorrect responses to question 11.

In extract 20, the candidate focused his/her response in what the population
policy can achieve instead of pointing out the impact of the population
policy which can be identified so far.

2.2.2 Question 12: Physical Resources

In this question, the candidates were required to explain why areas around
volcanic mountains are densely populated despite the potential danger of
erupting. The general performance of candidates in this question was
average. The data showed that 40.87 percent of the candidates had good
performance of 10.5 and above marks and 26.82 percent had average
performance of 6 to 10 marks. The data further showed that the
performance of 32.31 percent of the candidates was weak. Figure 10 shows
the percentage of candidates in each category of performance.
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Figure 10: Candidates’ Performance on Question 12

The analysis of candidates’ responses was done to determine the reasons for
their performance in each category. The analysis of candidates’ responses
with good performance (40.87%) showed that, they had good knowledge
about the mountainous areas particularly volcanic mountains and why they
are usually densely populated. The candidate were able to explain the
reasons such as presence of fertile volcanic soil which is suitable for
agricultural activities, presence of good climatic conditions modified by
altitude, and volcanic mountains as tourist attraction which influence the
emergence of other economic activities such as trade and accommodation.
Some candidates also were able to explain reasons such as availability of
minerals and the nature of raised land which is suitable for development of
settlements. These kinds of responses showed that the candidates were able
to make connections of the nature of volcanic mountains to the factors that
attract people to live in those areas. Extract 12.1 is a sample of good
responses from one of the candidates.
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Extract 12.1: A sample of good responses to question 12.

As shown in extract 12.1 the candidates explained sufficiently the reasons
for the presence of dense population around volcanic mountains despite
some grammatical errors in some sentences.

A sample of responses from the scripts of candidates with average
performance (26.82%) was reviewed to determine the reasons for their
performance. The results showed that, some of candidates in this category
had grammatical errors in their explanation is some points which made it
difficult to understand their arguments. Other candidates in this category
repeated some of the points in different words to try to convince the
markers that they were different points. Further review showed that, some
of the candidates also lacked adequate knowledge on why people were
attracted to settle around volcanic mountains. For Example, one candidate
wrote “...is the source of capital, the volcanic can lead to an individual to
obtain his/her own capital where he/she can be able to make his own
development” Another candidate wrote; “it is a source of national income,
the volcanic has led to the source of capital in our nation.” These kind of
responses are disconnected to the requirement of the question.

The review of scripts of candidates with weak performance (32.31%)
revealed that, the major source of weak performance of the candidates in
this category was misinterpretation of the requirement of the question. It
was found that, instead of explaining the reasons that attract people to live
around volcanic mountain despite their potential dangers, the candidates
explained the possible negative impacts of living around volcanic
mountains. The candidate explained the negative impacts in case of
volcanic eruption such as destruction of property and death of people. Other

explained socially related problems such as lack of social services, poor
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infrastructure and spread of diseases. Extract 12.2 is a sample of incorrect
responses from one of the candidates in this category.
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Extract 12.2: A sample of incorrect responses to question 12.

In extract 12.2 the candidate tried to explain the negative impacts of
volcanic mountains contrary to the requirement of the question. It is also
noted that some of presented negative impacts are not correct. This is an
evidence that the candidate apart from misunderstanding the question, also

lacked sufficient knowledge.

Question 13: Principles of Teaching and Learning Geography

This question required candidates to suggest five methods of assessment
which they can use to orient the newly employed teachers. The data showed
that most candidates (52.99%) had average performance compared to those
with good (21.33%) and weak performance (25.69%). Figure 11 presents a
summary of the percentage of candidates in each category of performance.
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Figure 11: Candidates’ Performance on Question 13

Samples of responses in candidates’ scripts were analysed to determine the
reasons for their performance in each category. The results showed that, the
majority of candidates in this category understood the requirement of the
question. However, they lacked sufficient knowledge of how the different
methods of assessment can be applied. This caused the scores of candidates
in this category to vary within the range of average performance.

The analysis of responses of candidates with weak performance showed
that, the main reason for weak performance was misinterpretation of the
question. The candidates misinterpreted the question in three ways. In the
first scenario, the candidates explained what assessment can be used for
instead of explaining the methods used in assessing students learning. The
second misinterpretation was that the candidates explained different
teaching and learning strategies contrary to the requirement of the question.
Other misinterpreted the question by explaining methods which can be used
to assess the performance of teachers instead of explaining methods of
students’ assessment. Extract 13.1 is a sample of incorrect responses from
one of the candidates.
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Extract 13.1 A sample of incorrect responses to question 13.

In extract 13.1 the candidate misinterpreted the question and focused his
argument on how to orient the new teacher professionally instead of
orienting him/her on assessment methods.

The candidates with good performance showed evidence of good
understanding of the question. They also had adequate knowledge about
different assessment methods and the best way to use them in assessing
students learning. The candidates explained assessment methods such as
paper and pencil method, observation, assessment portfolio, projects and
anecdotal records. The explanations in these areas indicated that the
candidates had sufficient knowledge in the areas of assessment. extract 13.2
shows as sample of good responses from one of the candidates.
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Extract 13.2: A sample of good responses to question 13.

Question 14: Principles of Teaching and Learning Geography

In this question, the candidates were required to support the statement that,
teaching and learning geography cannot be successful without the use of
inquiry based teaching strategy. The general performance in this question
was good. The data showed that the majority of the candidates (59.29%)
had average performance of 6.06 to 10 marks and 21.65 percent had good
performance of 10.5 to 15 marks. This makes 80.9 percent of the candidates

scored 6.0 and above marks (see Figure 12).
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Figure 12: Performance of candidates on question 14
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The analysis of candidates’ responses showed that, the candidates with
average performance (59.29%) provided a mixture of responses. Some of
the points in their answers were correct while other were partially correct.
Others gave fewer points than required by the question and some repeated
the points in different words as different points.

The analysis of responses of candidates with good performance (21.65%)
showed that the candidates had adequate knowledge of the benefits of
inquiry teaching strategy. In addition, these candidates were able to present
convincing arguments about the benefits of the inquiry strategy in a logical
manner. They supported the statement with argument such as the inquiry
approach activates the brain and therefore helps retention of long-term
memory. Promoting deeper understanding of concepts and the content in
general, helps students to feel the intrinsic reward of learning and building
initiative and self-direction in learning. Generally, the candidates in this
category showed good understanding of this teaching strategy and its
potential in enhancing learning of Geography subject. Extract 14.1 Is a
sample of one of the candidate’s responses in this category.
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Extract 14.1: A sample of good responses to question 14.
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On the contrary, the candidates who scored poorly (19.06%) lacked
knowledge of the benefits of the inquiry teaching strategy. The analysis on
the responses in this category showed that some of the candidates explained
teaching strategies in general while others explained the areas in Geography
which the inquiry teaching strategy can be applied. This consequently led to
providing irrelevant points or mentioned the points but failed to show how
they are related to the inquiry in respect to learning Geography subject. It
was also found that some of the candidates were able to provide a mixture
of correct and incorrect points. For example, in answering this question one
candidate explained the application of different teaching strategies such as
the jig saw, question and answer, role play, gallery walk and study tour
contrary to the requirement of the question. Extract 14.2 shows one of the
incorrect responses from one of the candidate in this category.
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Extract 14.2: A sample of incorrect responses to question 14.

As shown in extract 14.2 the candidate explained the areas or topics which
the inquiry teaching strategy can be used instead of why teaching geography
would not be successful without the use of the inquiry teaching strategy.
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3.0 PERFORMANCE OF CANDIDATES IN EACH TOPIC

The analysis of questions composed from same topics was done to
determine the performance of candidates in each topic. The analysis showed
that, out of the 10 assessed topics, the performance of candidates was good
in three topics; average in four topics and weak in three topics. The
candidates’ performance was good in the topics of Population and
Development (98.90%), Assessment in Geography (80.90%) and Principles
of Teaching and Learning Geography (71.95%). The performance of
candidates was average in the topics of Physical Resources (67.70%),
Weather and Climate (63.70%), Human Occupation and Economic
Development (54.75%) and Geography Teaching and Learning Support
Resources (49.55%). On the other hand, the performance was weak in three
topics namely: Geomorphic Processes (21.60%), Map Reading and
Photograph interpretation and Geography Discipline (10;20%).

Further analysis showed that, the performance of candidates in general
when compared to 2021 examination decreased. The decrease in
performance is caused by reduction of the number of topics with good
performance from six in 2021 to only three in 2022. It was also noted that,
the number of topics with average performance increased from three in
2021 to four in 2022. In addition, the analysis showed that, while there was
no topics with weak performance in 2021 examination, three topics in the
2022 examination had weak performance. Out of those topics the
performance of candidate in two topics namely Geomorphic Processes and
Map reading and Photograph Interpretation decreased from average to
weak performance, the performance of candidates in one topic (Weather
and Climate) continued to be average.

40 CONCLUSION

The performance of candidates in Geography paper indicated that 99.02
percent of the candidate passed the examination. This was 0.98 lower than
that of the 2021 examination where 100 percent of the candidates passed the
examination. When examined in detail it was found that the performance of
candidates in three topics was weak. The performance in these topics was
average in the 2021 examination which means that they have deteriorated
further. It was also noted that the number of topics with average
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performance increased from three in 2021 to four in 2022. The main reasons
for weak performance in some topics was inadequate knowledge of
candidates in some topics and misinterpretation of the questions which led
to providing irrelevant responses to some of the questions. With such an
analysis, it is therefore necessary to look for ways to improve the
performance of the topics in which candidates’ performance was weak and
the four topics in which the performance was average. This will lead to the
improvement of performance in the subject in general.

50 RECOMMENDATIONS

In order to improve performance especially for the three topics which had
weak performance, it is recommended that:

(@) Tutors should use practical and assignments in teaching map reading
and photograph interpretation skills in groups and individually. In order
to help student-teachers to understand their shortcoming in learning, the
tutors should accompany the practical and assignments given with
immediate feedback. Feedback helps the student-teacher to improve
their learning styles.

(b) In improving the teaching and learning of the topic on Geomorphic
processes, tutors should utilize the use of the actual environment,
textural materials and pictures to make them connect the topic they learn
in the classroom with reality.

(c) It is also suggested that, tutors should use different teaching and
learning styles such as brainstorming, library readings, discussion,
browse the internet in order to understand the multidisciplinary nature
of Geography.
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THE PERFORMANCE OF CANDIDATES IN EACH TOPIC

Apendix

S/N

Topic

Physical

Number
of
Questions
per Topic

12

Percentage of
Candidates
who Scored
an average of
40 percent
and above

67.7

Average
performa
nce per
topic

Remarks

51

5. RESOUICES 67.7 Average
6 Weather and 2 o 63.7 Average
' Climate.
Human 4 34.9
7 Occupat!ons and 54.75 Average
Economic 9 74.6
Development. '
8. Geography
. 1 30.8
Teaching and 4955 Average
Learning Support '
7 68.3
Resources.







